1313-008-001

PLAYGROUNDS Gy =

designed for sustainable and creative play Tiir il ,
05-09-2022 / Rev.: A




1313-008-001

406 ~1678

Max kg/cm \

1200

IIOII

600

1500

O
i

4678

>

47x34x12m ~128 kg ~0,14 n? @24-27 x 180 cm 85 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



1313-008-001

521114

Parts List
QTY PART NO DESCRIP.
1 D20039 Robinia
2 LE15901 3x16, PH
1 LE15910 Name tag
4 LE16098 M12x1,25mm nut
4 LE16099 M12x50
2 LE16167 M12 - @32 mm
4 LE16168 M12 - @24 mm
2 LE16220 M12x80
2 LE16556 242/38mm
1 S21114 LegPush
1 S21133 Installation frame

S21133

/

D20039



1313-008-001

o I
i /’9’
wor
RN
1277
#19F |
/ 1277
4678



LE16099

1313-008-001

LE16167
LE16220

LE16556

@.—3"‘)
Ol

S21114

521133

LE16168
LE16098
Parts List
QTY PART NO DESCRIP.
1 D20039 Robinia
2 LE15901 3x16, PH
1 LE15910 Name tag
4 LE16098 M12x1,25mm nut
4 LE16099 M12x50
2 LE16167 M12 - @32 mm
4 LE16168 M12 - @24 mm
2 LE16220 M12x80
2 LE16556 B42/38mm
1 S21114 LegPush
1 S21133 Installation frame

D20039

~

LE15910

LE15901

0] NORNA 100g
(LE16604)
Lubricating paste




